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In order to help us develop the highest quality Curriculum Support resources, we are undertaking a
continuous programme of review; not only to measure the success of our resources but also to
highlight areas for improvement and to identify new development needs.

We invite you to complete our survey by visiting the website below. Your comments on the quality and
relevance of Cambridge Curriculum Support resources are very important to us.

https://surveymonkey.co.uk/r/GL6ZNJB
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Cambridge International Examinations retains the copyright on all its publications. Registered Centres are
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Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS and
A Level English (9093), and to show how different levels of candidates’ performance (high, middle and low)
relate to the subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen to exemplify a range of answers. Each response is
accompanied by a brief commentary explaining the strengths and weaknesses of the answers.

Each response is annotated with clear explanation of where and why marks were awarded or omitted. This,
in turn, followed by examiner comments on how the answer could have been improved. In this way it is
possible for you to understand what candidates have done to gain their marks and what they will have to do
to improve their answers. At the end there is a list of common mistakes candidates made in their answers for
each question.

This document provides illustrative examples of candidate work. These help teachers to assess the standard
required to achieve marks, beyond the guidance of the mark scheme. Some question types where the
answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been
omitted.

The questions, mark schemes and pre-release material used here are available to download from Teacher
Support.

Past papers, Examiner Reports and other teacher support materials are available on Teacher Support at
https://teachers.cie.org.uk
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How to use this booklet

Introduction

Example candidate response — high

Examiner comments
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Answers by real candidates in exam \\dfm:_mmdﬁ"—fl
conditions. These show you the types of
answers for each level.
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Discuss and analyse the answers with
your learners in the classroom to
improve their skills.
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How the candidate could have improved the answer

0 Immediate and purposeful
assessment of the tone of the
passage.

Examiner comments \
s/ are alongside the answers,
linked to specific part of the
answer. These explain
where and why marks were
awarded. This helps you to
interpret the standard of
Cambridge exams and
helps your learners to

krefine exam technique. /

There was some engagement with the passag
focus was very variable and rhetorical devices

This explains how the candidate could have improved the

answer. This helps you to interpret the standard of
The response would have benefited froma mo| Cambridge exams and helps your learners to refine exam

disconnected and this prevented any clear exa technique.

Common mistakes candidates made in this question

The examiner expected candidates to:

Lists the common mistakes candidates made in
» identify language examples and features answering each question. This will help your learners to

the passage

avoid these mistakes at the exam and give them the

» comment on specific effects ofthe chose| pest chance of achieving a high mark.

effect ofthe passage as a whole
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Assessment at a glance

For Cambridge International AS and A Level English Language, candidates:

e take Papers 1 and 2 only (for the Cambridge International AS qualification)
or

o follow a staged assessment route by taking Papers 1 and 2 (for the Cambridge International AS
qualification) in one series, then Papers 3 and 4 (for the Cambridge International A Level qualification) in
a later series

or

o take Papers 1, 2, 3 and 4 only in the same examination series, leading to the full Cambridge
International A Level.

Cambridge International AS Level candidates take:

Paper 1 Passages Duration Weighting ‘
The paper contains three questions. 2 hours 15 minutes 50%

Candidates answer two questions: Question 1, and either
Question 2 or Question 3.

Questions carry equal marks.

Externally assessed. 50 marks

and

Paper 2 Writing Duration Weighting

Two sections: Section A and Section B. 2 hours 50%

Candidates answer two questions: one from Section A and
one from Section B.

Questions carry equal marks.

Externally assessed. 50 marks
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Assessment at a glance

Cambridge International A Level candidates take:

Paper 1 Passages Duration Weighting

The paper contains three questions. 2 hours 15 minutes 25%

Candidates answer two questions: Question 1, and either
Question 2 or Question 3.

Questions carry equal marks.

Externally assessed. 50 marks

and

Paper 2 Writing Duration Weighting

Two sections: Section A and Section B. 2 hours 25%

Candidates answer two questions: one from Section A and
one from Section B.

Questions carry equal marks.

Externally assessed. 50 marks

and

Paper 3 Text Analysis Duration Weighting

The paper contains two questions 2 hours 15 minutes 25%
Candidates must answer both questions.
Questions carry equal marks.

Externally assessed. 50 marks

and
Paper 4 Language Topics Duration Weighting
The paper contains three questions, each on a separate topic | 2 hours 15 minutes 25%
area.

Candidates answer two questions.

Questions carry equal marks

Externally assessed. 50 marks

Teachers are reminded that the latest syllabus is available on our public website at www.cie.org.uk and
Teacher Support at https://teachers.cie.org.uk
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Question 1

Question 1

Example candidate response — high

Examiner comments
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o The introduction demonstrates
the candidate's clear understanding
of the context.

e The candidate develops an
insight into the specific audience
using appropriate evidence from
the transcript.

9 A counter-argument is set up
and developed, using some
linguistic terminology.
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Question 1

Example candidate response — high, continued

Examiner comments
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0 The concept of language to
include or exclude is explored using
appropriate evidence.

e Language and purpose is
further examined. The candidate
continues to select appropriately
from the transcript.

0 The candidate now begins to
examine language and power and
the status of the interlocutors within
the context.
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Question 1

10

Example candidate response — high, continued

Examiner comments
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0 The candidate comments fully
on the structures of questions
posed by the interviewer.

0 The response is comparative in
its exploration of the interlocutors’
utterances and their linguistic
features.

0 In developing the response
further, the candidate now applies
the analysis to the previous
exploration of language and power.
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Question 1

Example candidate response — high, continued

Examiner comments
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@ The candidate applies the
theory of Grice with insightful
comments and uses appropriate
evidence from the transcript.

m The candidate continues to
apply theory, demonstrating
knowledge and insight regarding
Morgan's ingratiating way of
communicating with Bolt.

@ The candidate identifies
Morgan's questioning technique as
strategic, effectively using a further
theory on politeness.
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Question 1
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Example candidate response — high, continued

Examiner comments
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@ The conclusion includes
comments on linguistic features
and returns to the original points
made about the effectiveness of the
conversation set into the context of

a television interview.

Total mark awarded =
21 out of 25

How the candidate could have improved the answer

At times, the candidate lost articulacy and the written language became rather informal. To improve the
answer the candidate could have maintained an academic tone throughout.

There were sections of the response which could have been improved by using more precise linguistic
terminology to describe the language features being explored, especially in the section of the essay

concerning questioning techniques.

The candidate’s focus was generally on how the audience might be affected. While this is commendable, the
candidate could have included more comments specifically on the context of Bolt's recent achievements.

Where there was discussion on language and status, this could have been made more specific with an

application of language theory on this subject.

=/
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Question 1

Example candidate response — middle Examiner comments
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Question 1

Example candidate response — middle, continued Examiner comments
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6 The candidate demonstrates
understanding of the structure of
the interview and applies some

The dueadon and Q‘G\*’“sgf g Sonuersauion \s " | technical terminology to describe
1 Rconer Promeed ko bd_h—ﬁagepﬁs- use oF  Rlexs, ‘ the effects conveyed by language

YIS vue”  wnion  aivey  @exs Morgon eie uad.wls—\cm@%; and purpose.
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ldow & wne geazert N 6 B . @ There is a brief comment on

Goffman's theory which is
appropriate, to an extent.
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Question 1

Example candidate response — middle, continued

Examiner comments

This moasces e \NRWievs @ Scosementf  ound
PackS oxvouk  8Pecobc Rerd enents  riotcusie Fo
[WSain ,ard - ef@cove v +ne  convexSosans
eflecueness. ‘T\rwouq‘n uSivng_levonce (Gwice's
mMoxims) af vae Olymeies , - Rooney SubS‘\emen,o

\S_Creored S%mexﬂ L OAON G LADM  CrtauRno, &

Qonewrant  inleniew « Areat~e Arainey rovim  of

'Grice (S Fovcwed C\’\vo.)qh Hhe honest_ ok ynmode

Jo9_VUSadn. fﬁvwl—%— ra—vs—eretel—s- IS Ju ST Ynowd work

10 e addingto the quamty S ¥he fanSorift ,

Qcmrcw\\‘mq e ol effecss 1o Yne \\‘S’re.nihq ang

\:\w\nc\ wcn—ance 1leo,hn9 Q%e,t\u,ug_e NLERL L 030 » .
TS enodole s » m\ed ond  PevSoral  conversaoon

Yo tomwwence os  Povsonoy ntovonanon »" Fana

oxe  One Of ¥ne oiggeic o me " - Yooy mmuwmnind !
= \J &

Qive nSignt, INEO USAUNS Reymendd UR | and noTgosc

a Puciie Sfoto~rraame. atnilese ¢

PSSRV . )
The 4 ocmosenere of the miavwiew exnaoies

USain Lo elokorade. INto s PerSora U |, SPerwng

W@ o Adrs Maaan. Thne usSe of Coaidur BmEness
J

" doure may hero ! and Y IS eing Me onamf !

aé  emdence o Pogibve Riiteness  (Palleness f\df\eon@\,

uhieh PraiSes 4hne other SPooker -\’hrcuqh A cRUaNEr U

and  esrarn compumex\co\m mmnsgi.wr_har Prircieies |

1¢ Laco®) provide an aG(:w: X0 tAOULe YN YeCieuel,

Wain ket good .This 1S evidentc wy ¥e wmowes ;

w goden foits Y oz o oncmn@ian ' and “ta e a

areat hamEon”  wnith boost  usains  cNfidence ond

S‘\\‘S\r\\— L£g0. A PeomPSng &l aprauidve. and  detauted

yPonieY , Proy \‘d\r\% e | ConerSahon vt ol\cud kogie
Gk Proflod  GoMosEhe e .

o The candidate demonstrates
knowledge of Grice's maxims and
successfully applies theory to
argument with evidence from the
transcript.

6 The candidate's brief comments
on politeness theories demonstrate
an understanding of the purpose of
the interview and the effects of
Morgan's flattery.
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Question 1

Example candidate response — middle, continued Examiner comments

A Coneoyont ond elabgabe GonverSonon S

effecicly Oaeed  Arwovas e ule of  ConverSacion

feorurcs Lo enpce. by ;'g caonue. e floo of
1|__converSanmen,  twosgn  Qeatuaycs of  SPonconeouS
e Ch . Furthermoe pae uSe of hileness

1 ¥eoy , Coge veay , Cooferocue Weory  and
HC\,\\\‘C\Q}:\J‘S YeoRstey OANQURS Ve I iesheuoer
UroueS g \add ~alkE and  lamdole  gamnoSPnerve

for  USaun o communicode NS AniumPng, 9 9 The conclusion is a succinct
precis of the candidate's points

raised.

Total mark awarded =
12 out of 25

How the candidate could have improved the answer

The candidate could have improved the answer by a fuller explanation of Goffman’s theory. The brief
discussion of this was only appropriate to an extent and could have been the subject of a more developed
exploration.

Further theories on politeness were briefly mentioned. These were not all attributed to a theorist: the
candidate could have improved the response by using specific names and by providing an explanation as to
how and why a particular theory could be applied to the linguistic ingredients of the transcript.

The candidate stated that the interview was spontaneous for both interlocutors. The response could have
been improved by closer reading, as Morgan’s questions were prepared, and only Bolt’s replies were
spontaneous; this aspect of the interview affected the overall levels of formality which did not match. This
was a fundamental element of the language used in the transcription which in the candidate’s case was not
recognised.
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Question 1

Example candidate response — low Examiner comments
-“:e Leock . & an t}léeflﬂ‘w; ] @éﬁe‘ﬁgﬁ
tnlerviower was wnderviowing Usan  Bolt, The
le”“‘é &5 made "‘/i;’ 5P c[‘/}‘%’e”l o The candidate demonstrates
%nquaqe'j At ﬁ’;&‘ dwil. P éi‘e jbméjéz,;w some confusion.
e organ) d ws e p/PQO
fle inlosas, Tos i dhown b, He
pﬁmse, " ks becamse VOUBE wy  heo (1) co o
does I ﬂma’i meike You peeﬁ % 5&0&15‘ Aa«é i
flers  Magap hao been a by  pan
of L(gw% Boll  Sxe Ao bacl He, perkes
d ook lhe he & lib . blgest |
| fan. Tlis (o also J\awn b, L T;wbe
:9F volke | 6( YoURE! s '{6(13'4%%4 opens 9 The candidate selects
T : : appropriately from the transcript to
oL cemecsabin ~ bl abs appects  He demonstrate understanding of
;%}:e ] con,éjcf déw bolt ‘cszmaj:w[!l/ ﬁ:}% language and purpose.
| abow {Aus feelygs tien fans L& g
e hew ] el abqezé‘ bin. Pers
M u(man appects by " apobins.
ol Le ndervie Joss l”q, e - antect
ldanges  lo  chddlosd " emories. Prow Mg
bring up by e wes  dnbriued by
10 L;;npx'oﬁ» Hc:we,vef,, be obresses  oub " how oé;m,wcs
war G - fesl men, oven  Houdh e
e f‘t;'ez( mo[walés’ol by a fuﬁg n  ikaman,
lancwtge iZ ’a@apfec[eo[ Q " aﬂ et:]'he catndif[ja;(cet r:)fffarts agseﬂiq?h
. fs ¢ . pdeviow p,m@b -y on the content of the interview wi
sarks __qelbng __dwobsed. Non - oburdad _ languge & some misreading.
Shoran '}fbm/’ Usain ~ balk. He. O aFFeoé - Jé(ae 0 The candidate offers a brief
ﬂarﬂwgie ' af Lo Leac b ba i lL,m, comment on Bolt's use of language
Ef;"jr h'cw - },;pbdw _72_/9&!/% L‘""‘Zf :ZZ"CE tar:(rj]sc(g)r?;rues by paraphrasing the
_|belre. n
| ,'J e, Dﬁmee ” Lfﬂ I NOE bk abad
g oo’ cold o dedbiny  ahod
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Question 1

Example candidate response — low, continued

Examiner comments

Strezsing madlers  op dbve 1:;’@ 4"’ mes
fonls ~ aboul 5516::5:/14\ psuess Ll: s _coudd
hold oy beck me Pe/PawM wel‘a up
| bo ,lmll copehlibos . e Goeo ___n

.éaﬂé fabou.é taLt'yha olee.’o ,bfeaﬂls b&?&w[@ he
eﬁoplod&ﬁ.

e (fnl:erw'@;?e(’l. Pers .L(Cman )40 m;é@

on _bo appeck  He ]anquaqe op dle Aéa:cf
Lu bods about cL«amﬂ:mﬁ d: 'dﬁ ae geqajb

A

_J,g’_l«_o\/e» ClCLW‘"“d ‘Somaabma B /gfeaf ond 6%&/!6!
(dach  Bolt has, M«V;d Man @lo.lof medals o
]kmc(red mebre ’ races- Jhio ﬂa@ " lobailed L
ag Ue 'Faﬁ,f:eﬁ[: Mman o earbh Tefe. he
bemme,s a d\amman Eolb /z(ﬂ@ abo:lf ) ééree

uMnaﬁ, hard -werl . eleolucodin cm( having - a_

am} !fam déaun 6 ndoqes « Aamﬁe.&) A .40

AN / .
dnkerview bq La.lL: nd a,bwl hows the transcript.

emcué efupncrémad Leam  reolly

i _[\@/ma a
Lo.!mec' /.«'m"]‘:;'a be, __shown é’?‘l e
| phace, “ for ___me. ”i pes a ko ade, |
peaple <y do bhefped " fim, por eacampfa
s cowch twho - iplaz/ed’ a Auae ‘ole
w s coreer. -
s cap be « choton by  de  phrse,

CEPE GIAMYT - my oaac}\"ﬁw w,pl'fall Lobers

18

e There is further paraphrasing of

5}01,0 "?Ckuq L\ULOJ Mﬁal})} aach ] !&(’ppc‘r&ol /&4'/71.

Ah o "[A@ - orabond. e . 6 The response is narrative rather
Te b eer.  cidie V) ”m lo ) He than linguistic.

ﬂ:lm‘n 5 M read&? mo,él/&(aééé L[ﬁwn ,é’? a[o

g‘yeoJ} én s~ coreer, A(Aliﬂl/la[:i‘caﬂq He  conled
_o£ ﬂ»@i feek & effeaé Uﬁam qo&) omn

bl ohot Mo fans: He Vyen _even
lies  eobnolbls _op  Ho  peaple o
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Question 1

Example candidate response — low, continued

Examiner comments

e b amrf /Mm M:&u,n 4&9 o o
ezplasp __yhat Hrgzo pato I"@aﬂq do - ks
Mol m adieye More. ’G\; -5 afwwn
hﬂ: ﬂ;@ Phec, “[) le ey Lo 11‘4;!
quwe me.
er, bd" é{e ﬂ90p1@ wolved. o Ye
|oberview e qocc! &p@au[féﬁ of ﬁmluel\ A’m
: L (/bcu.‘n was ' qlv‘mq Lum&[/’ e
Lime? lo dink 4 " whab bo e,
J (‘) ur, 7 T@ f ef‘[‘) ':55 ,gl\a,m /:wzoe a—.,
be lak.
Alﬁ) | M@wf\ Bazbl«  wed 'mo,[;,(_owq qu/herﬁ[
|Sounds, L‘LQ £ W Laoe) :) v ¢
for " Py Uorgan, ek 5 cloar é(aaé
de anlﬁl' & reaélu qecel. whish s
wa:éed bocawnse (;p Ao  ovigment he lves
é«iﬁo becawse o e ’6’/’@ o L
;‘JL.
e, do o qgeater abercd e larguage
| sed o He Y ek affect He “conted: ’
To o lemer exckend Le lﬂllqm,ge d
Lok aFFeol' de bz b Tl s equalg/
o when Uoin __ agres b
Piess says abowk hurdred  melre  races.
Uoon  \Jul  agee  will , " sk due, abale-
menk

o The candidate spots some
features of the transcript and
provides a generalised comment.

6 The candidate attempts to
provide a basic sociological
comment.

Total mark awarded =
4 out of 25
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Question 1

20

How the candidate could have improved the answer

The response opened with some confusion which may have been due to the candidate’s loss of control of
written English.

As the essay continued, it was clear that the candidate understood the context and was able to select
evidence from the transcription. However, the response was largely narrative, paraphrasing chronologically
the content of the piece, rather than offering a linguistic analysis.

Comments displayed a tendency to unsupported assertion regarding semantic meaning of the interview and
some comments showed misreading. An initial close reading of the transcription may have avoided this latter
issue.

Overall, the candidate could have improved the answer by identifying specific linguistic elements using
technical terminology and making an exploration of language, structure and purpose, rather than only
paraphrasing the transcription.

Common mistakes candidates made in this question

Candidates often tried to assess the socio-economic status of the interlocutors by attempting to analyse
accent which was not presented by the transcription. In doing so, the response became irrelevant to the
question. Candidates also attempted to criticise the quality of English used by the interlocutors. It was not
part of the question to assess or offer assertion on the interlocutors’ intellectual status.

Candidates were generally keen to demonstrate their knowledge of genderlect. However, discussion on
language and gender is only one aspect of spoken language and candidates should have taken care not to
allow it to dominate the response.

Weaker candidates who referred to language theorists commonly did not give a satisfactory explanation of
the theory and why it was appropriate for it to be applied to elements of the transcription. Candidates should
have been aware that it is not sufficient merely to mention a theorist's name.

Candidates needed to be aware of the conventions of conversation transcription. Some candidates criticised
the interlocutors for not using punctuation in their utterances: according to transcription convention,
punctuation is not used.

Weaker candidates lost control of their own written language at times. They also offered a generalised,
rather than analytical, response using standard English terms. Candidates should have used technical
linguistic terminology to describe the linguistic elements and to explore the effects and qualities conveyed by
language, structure, purpose and context.
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Question 2

Question 2

Example candidate response — high Examiner comments

Tm af ke %am M a Mu}ra@ A@/de—
nes h/’al’\,@f v o —tto Lok %14@‘7* 0
_ m@&/_gl__ﬁ ___éz 2.8 WW&/Q_@MA_LM_ }
e 0/ s+ J(MMQEU/\QOWA [ aChino —
Wl ologuo  Ciglis b 's DKQJQJ«&IZ- anof . o .

o The introduction is articulate

_gﬁ_%a&%_g_@:&wgu— /Qm’ié‘?f {1) 1 | and succinct.

re (£ ﬁcu&dg( ,
4 MAoM_jp‘/rM v/ Ykmmi
™ U '
_?731\&.&%_&661/\9@%/ e M"al\;ﬂ- [bons |
Lhb, madls. +0° i anic !
_R a0 ¢ M/i/\()//‘*‘*‘?l’i\g ch) VIIAQ?/ ,KW(Q

ek __'_lr\_o/____@_m_ g A @g%gcg_%u oyt |

L /U@/J‘amaa’ v
.Wﬂmm %k&/{/ﬁ&@ /AQ@@IIAM i
Hs Loorlclls _imod) ot 20N qﬂﬁﬁj_;
Englus) o &a&&bd éttmawqaL M "
y ﬁ/rawﬂ u@{(ﬁfb\@\ Yrecece pn_oror |

a g&m {,Zq) ot HY I Cae f&.s @ | | © The candidate demonstrates
4 | | understanding of the argument set

" | up by the passage, provides
ﬂfL (6 e top 08ty .ﬁb@lﬂ—ﬂﬂ @—(é/—c——(/&» evidence from the text

8.1 Lo
Lol gts oo[)‘ Wﬂv@@?{ﬂ v oA LdF ' | appropriately, and develops the
W T2 (oce s o Ml\ . | response by applying wider
_O@M)Olf‘dv (///u . qrm hq g & I;irtmggfliiggrzof tct;_e current global
7 D garding language and
l/\/uq - “The 2 rocsin £ alticla power.

;(’TAQGQ-»VT A Fioad- ‘\pQA/LO(HSZ\ La 0
I ZT ba . Ko yua (Ko a,@., A ol it ¥

~

Lud=#14 /C‘W\vaague cz%(a\u_ — “a ;
_é@_;b_&lg/@o Q ‘ ; 0 The candidate explores the

linguistic issue by selecting

i%)_sQ&oKLA_.LA __‘@Z_,A _SAL@_J_LM@_CL\Q/ __ appropriately from the context
Fhs_ pd/f‘r’:tz%f & @4/37’&%,- a__Fru L% | provided.
A dFdten ot Lﬁ/ﬂl\ﬁﬁl L \%Lg N '
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Question 2

Example candidate response — high, continued

Examiner comments

L8 WM%S% mo(ﬁ;z% (284 7

o St Cooum__as o /CMAQM&Q @,Z_—‘

DTovt aancf . f__ & LM_’___ /V\/IAQ Lag,

/D/C(C’LX’ \—(ﬁ __/CL_VMQQKZ

A AMB s
gg@af A_Qrv iﬂﬁ; QZ»L\}) @
ke (o GLQ} CQ,@Q,Q_D'( ‘/(AW?LK &(YZ\QLGL

Cenplisl " ontbo Sthoot

dJd .
7L?/\L /d//rﬁm/ G P skin_ o

mj a.%w_ﬁ_;__f_%?_ osopn . [lag

lu lwup_é_c,c@/f*w__&_@@_u; s ool Floso

_L(Qs.d_cgm‘_g(zo&o L_f_@,u o //SA. o 180k
o lrs e Gus

c/yéza:zzk_g; vt ).

b e o vioni s |

.AIZ Fls 4 74 ﬂkamw@a Flo alFicls

[ettggests it wdl), 1 ac LisL has
fo Mg, %me -7 aemagw el o)
. Z’om&&mmw o DU U7L) . _Qén/ . '

“haslc S/L(,QQ/" ad Fho— alFicts 5’%47’765

b Privas 1 ol Fhor—

ool /L-Qegc/k/f\gﬂ

R
-‘;zv\ t—QgMcﬁﬁit \Q—A% g_@a_@hgﬁdr&/?%
-_7___th 7/*0

Wh o (eual \QQA«Q[:XL,LL |

\

ShoFior

i L@’Q—%fab&gﬁ/—- e c ool e ol
/g%z 2ol e &los a/_ L)
Jea L\Z;.jlz/%bﬁ CiCe.széQo? /L L:z— 4/7)’/ o

a hos pfo of _ Flus, ki M@ﬂ’lv\q

to LL%L—I/MGJ{M?’;&%’J fia VS lisls, BLia
1 nulfians ,,02070&’5 @@A)@c:@—uw

-

.MMF@J/LM/ aﬂm'rﬂ\ z?M@quS@& Lin,

e The candidate explains
language and elitism by applying
examples from wider personal
experience.

6 The candidate develops the
response through language and
power to education, mirroring the
passage provided and making
appropriate reference.

0 The candidate demonstrates
knowledge of the stages of
development of a language.
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Question 2

Example candidate response — high, continued

Examiner comments

\

ns
_%&M &/: _lAQJ_L/ muu,//\ ma@& /r:Qo/

PINTSIEE

4%&»\%&\ Looul el \Ml« Luku& o

Chocwoe WH’\J"'/" 7%14 waﬁé Zﬂ_éLd&

/nmauom;& (P Je kot pliol aﬂ——ﬂ\x

@er“&oﬁu«f?em Cocd s bt

o34 feary lay—ic «Shics Ly g lise— |
1S {amt\:@‘ 18 CL o ts0lé . [haddarols |

ily  “Porfoctd ! onfe, 4! Fiwad t~

Specl porgoct Engliol [ J et f

/"M/D/’OV/-Q/%/t 7 .4&_#{‘ ﬂ”‘]’[ s L4 7

zz‘g_zf o Arta bbb Bl bon o
%uo/z,wﬂiv %ajxntcﬂuf-l\ at

o hustaettc choon cerebhg e ﬂuhas j

zbl,z//mk AP TR T

"@M@hsb\ 9o Ud a«b-ebgﬁw,u/ém/fwm.

CCfuh Fhinno ts adlass ﬁu_m&*_..ﬁ |
—lgicadi AR ST - w/ e
C:C_)L/

M-Lﬁ_\uf -0_;3’__;’ o humavoy|

WKLQJ(Q'& ab /W%m@,%om(k

' WQL/Q s el on lo STha Conlius (m

ok n/ we. alll try 4o _spock wackdHiarls

% /l/L‘/"Lo co/««o( m’l/aﬂf
~ /(Y,uw/t-?ﬂw/,\ l\J/"QZM

v&,w— Jmﬂ/ (s a boadfhe dhr. b o

| oun~ /ac% mo Ma_u,ﬁg‘/ e %m

Jl_A/L// a Aa—u
MOLL___% &Kg&:_&_éw&f Ead-tr

Fis Ten® NI Qahogsing J+amb/ka~

_ & lyqlop\mc}( e 7,13 A

ot e’ Sl /ﬁwa QM “7L(/koel

e The candidate demonstrates
evidence of wider experience of
learning English.

6 The candidate recognises the
counter-argument, making
appropriate reference to the
passage and carefully selecting
evidence.

0 The candidate offers personal
opinion on the linguistic issue.
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Question 2

Example candidate response — high, continued

Examiner comments

&I‘QA}MALOMJ at Hoa A,q/;@lo@ 0/

L_Bn‘fu,:b\s FQOK!&VQM/’/O&/ /ﬁmwomr—ﬂ

Jhecovelool +u_w al—on AM#__

=S NN T Spoakl

i @ [Vawr! foocq /m /()-M/T_eﬂﬂaﬁkog_;

a} Cehaol /J&ﬁccuj&gf /«L/lu._//w@/au%\.oa(

‘/‘Luz_ng;h——haflbug_,/ammm /7:0 Poo Nairs) |

__f__/Dl’O’K RO 1 %M_//JA weca fha afwlu/

A)fu/f/ /v/]’(,wueug:p%/r D\[-]\D/VL /\Le/u/\?

Tl

mmm %uEf‘”ém Wl A balek (P

i au;,/;a M___kQar O&&&\_%__TL@@—_

__.,chh_oék w fd)’wlfl«;/’k(p Ml/ll//hq/d“

_ﬁ m_/’ILI/LFIVIL\_\OJ /a/m_ﬁ%q%n i jb&@ﬁl/

ot

A /mpd/%waﬂ Qo—w&)— 4a_alsos by
it o p}\m,m LIS ?Dﬂ\&zg/m

b, M l/\ﬂxd L\.CLWQ/\HMOQU\O_/ fo WQS’Z’WI

U -
78 ,F/K“QAQ‘L\, e g o Ot - N — =

A,a”\o/( 11 _staflsHd Thot “owly D2

a2 Lot vs— bor. Mcgws r%u/\

fth Has CW/GPMJ&&,—_{

hirst (ocwalo g 2

o it o LSy oAy i SLQL%L\):

;fp&q b cdoequod Je Mﬁ}k___éf/_ _i'b__._._i

Meeol fo loorn_ anShow [ tage.U ®
FM/VUZ_IA,IV\@/—-?_L\-(LCJ_ peocl Cavl ho Aoﬂ@ld”-

INEZE b@:bc@ cod 1o Fohood U\

1

lesh, ——8o (Shuy bl enr?

poltdi s o 1ot Sonl ofbos o

2ol [\CY_OZWM/OLLI’ Mges) fho mﬁgé__g\_

Dﬁ% Yook Fru_ fin
Z %%ﬁmﬁm%‘@é\ .

@ The candidate applies evidence
of wider reading on the spread of
English and language death.

m The candidate explores

language complacency by making

| reference to the passage and
selecting appropriate evidence.
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Question 2

Example candidate response — high, continued Examiner comments

k+MdM/mm&oA“€%7 QLS It o0

R vy ! ZK)\
;db&@kﬁ/l’df%:a ,a/cu,/i_ﬁ N /by o

' Pria s ousry domso aﬂ/ 7L worel.
¢ @ The candidate offers personal

“Tho ¢ o;mL/m / /h%«_Qi’MJ;LQm&o.Q opinion.
WCLQM/(Y&(‘,O‘WX @A,afé cﬁc@z 23 "]

5 IS A 2o go 1o toro 9hic o f’éﬁc,\
2 g Sia 0 caor B g aﬂ_

MMQ—%{WR,Q (’mOam(pg M cﬁ—L\‘a/
/@ommo@p& /a_oJ/rﬂQJ @Mn,ba*l\ ﬂpm@

Ly psig b Fmpardav M/(k')oMjr]"/ﬂ/k 00/
C NIl ien M S/:)-P) onds Com _—

Pk ol Fs  Aociod frha az\
Ao az&p/a‘u brecot  Huowods —

- PRef K FAVinIB nu @Dz,sp//ce %L\_ur\ (P The candidate demonstrates

. T understanding of English in
L rig evol ZLL"\Vge\ L ftad Freic international business settings by

exploring the passage and offering
further examples from wider
reading.
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Question 2

Example candidate response — high, continued

Examiner comments

Mj vl Aast éé(’dw;'»\a"a.

(WPJ%B%W—«WUCFKVVLJM@‘ 77 a,uz——@(o/-

;_[4,04{7"(5\& L \QQMO,«,@JLU b@racqh&fj“

s LSeck a0 0 27 my el

T s Arbrares Muor & . rfnm}ﬂ/a_‘

AT m/h,o/mﬁ/u c/x@@sma,

c Qwo.,@fd‘é\ _l Zq/wm ags
e % o c fotrne Aoz, 15

Ao@(Mm/onmm o Maowdarin

st w&cf 47 4 vt Comngcicd

Cra n,@ %@WMIQ/\@MQQ» 7Zc) UL\QWLQ)-/

L1 t— #1. onn - &
QraW‘f&arfL j‘U nﬁO m

S Sf(ﬂg alL( 1m/,(éo
“an (Scraiblel 100, A0 Les

Dpungy Lis) Spoalors G‘LK’LF/N‘;Q,OJ«\%(J/-

7Z~.Q ;»\g/ﬁu I />,} lea (1//\;/«/1

['H«QQQL i# s lt«,/‘v@-MB%?/\c fl\od» i s

ks loais at TWae Faprc  frowi oo

"gldhal b&u)/kou 70671/\7?“% Ul/w/m\

I husiness LQ,SDQ,UQQQCA_ Lo (JOG\O,M

,ﬂmﬁ\ /uﬂ@fmaaf—zauaﬂ mfﬁcc@{m et <

1 Hada . ngffzggﬁ(@_g (s @@mm#
WKJL_ /m/oaf# %k&m /,tcc;ooraw

W/’)\Qf‘/«de/ & an suns 7‘A—0— Loril rls

. aS) oG L2 : PON@& aé

Fhoir oaonlls @QQSDlﬁJL 7%)»:.4/@1&6’ oo\o/
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@ The candidate offers further
personal opinion in returning to the
original issue of the rise of
Mandarin as a possible global
language, making reference to the
passage.

@ The candidate continues to
focus on the business context of
the passage.
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Question 2

Example candidate response — high, continued

Examiner comments

T Frinl

> Mfwlupiul 7%,(,4 a@)c&JWﬂAﬁlﬁ7Q§i_«_,_
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s J 7/

(

@ The conclusion is a succinct
precis of the main argument of the
passage provided.

Total mark awarded =
19 out of 25

How the candidate could have improved the answer

Where the candidate made reference to examples from wider experience or reading concerning the use of
language in various countries, the writing demonstrated a loss of register. The answer could have been
improved by maintaining an appropriate register and by not using the quotes, as these provided a tendency
to generalised assertion. These sections of the response were rather prolonged and could have been further

improved by the candidate writing in a more succinct style.

The candidate could have improved the answer by applying theory to the linguistic issue, such as those

theories put forward by Kachru, Diamond or Crystal.

@ PAST PAPERS
INSIDE

Cambridge International AS and A Level English 9093

27



28

Question 2

Example candidate response — middle

Examiner comments
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o The candidate prepares a short
plan from which to focus the
response.

e The introduction offers
generalised assertion.

e The candidate now refers to the
passage and interprets advantages
of learning English.
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Question 2

Example candidate response — middle, continued

Examiner comments
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0 The candidate offers examples
from wider reading or wider
personal experience.

6 The candidate selects
appropriately from the text in order
to examine comments gained from
wider reading.

6 The candidate presents a
counter-argument and then
proceeds to refer to contemporary
global political difficulties,
demonstrating appreciation of the
wider implications of the linguistic
issue.
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Question 2

Example candidate response — middle, continued

Examiner comments
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0 The candidate appreciates the
humour of the passage while
appreciating the depth of
importance of the linguistic issue.

6 The candidate offers personal
opinion on the gender issue of
English language learning.

9 The candidate briefly comments
on language death and language
learning as an obligation.

Total mark awarded =
12 out of 25

How the candidate could have improved the answer

The response opened with an assertive statement and a comment from Crystal. These did not demonstrate
direct focus on the question, so the introduction to the essay was not relevant. The candidate could have
improved the answer by using an introduction which immediately addressed the question.

The candidate offered further assertion in the discussion on gender and English language learning. The
answer could have been improved by positively exploring the ways in which English language learning by
women can fulfil international business requirements, rather than generalising on misogyny, patriarchy or

oppression.

The conclusion made only brief mention of language death and language learning by obligation. The answer
could have been improved by a fuller and more developed exploration of these two linguistic issues.
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Question 2

Example candidate response — low Examiner comments

1
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hR Qse eme Ku.ey : a~se provided.
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Question 2

Example candidate response — low, continued

Examiner comments
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e Loss of focus on the question.

6 The candidate attempts to
explain difficulties faced in
international business
communication.

0 The candidate offers a
paraphrase of the penultimate
paragraph of the context provided.

e Attempts to demonstrate
evidence of wider knowledge

although focus is not maintained on
the question or the context
provided.

Total mark awarded =

5 out of 25
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Question 2

How the candidate could have improved the answer

At times, the candidate lost the focus of the question in an attempt to demonstrate evidence of wider reading.
This resulted in the latter part of the response becoming irrelevant. The answer could have been improved,
therefore, by maintaining focus throughout.

Parts of the response merely paraphrased sections of the passage. The candidate could have improved the
answer by, instead of paraphrasing, selecting an idea from the passage, inserting a short quote to evidence
the argument, and then providing an explanation and development of the idea by applying knowledge from
wider reading.

There was some evidence of misreading the context. Had this not occurred, and the candidate had used a
linguistic stance, a discussion regarding the language complacency of native English speakers would have
attracted further marks.

Common mistakes candidates made in this question

A common mistake which candidates made in Question 2 was to take inadequate account of the focus of the
passage provided, and instead write about other issues concerning English as a global language not
covered by the context. The passage, or passages, always have a direct focus — for example, language
learning to facilitate international business — and candidates should have taken notice that the question asks
for reference to specific details from the passage.

On the other hand, some weaker candidates chose simply to rewrite the content of the passage provided
into their own words, with the response resulting in a chronological paraphrase. This method did not
demonstrate a candidate’s own ideas, nor any knowledge gained from wider study or experience, which is
what was required in this question.

Commonly, weaker candidates chose to write a lengthy historical account of the growth of English as a
global language, leaving themselves short of time to explore fully the linguistic issue presented.
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Question 3

Example candidate response — high

Examiner comments
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o The candidate has provided a
well-organised plan.
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Question 3

Example candidate response — high, continued

Examiner comments

w

amWAMM

U O 4,
duadog " babwtn  Rebeon

(i yenr _ard,

e This is, in fact, a response to
Question 3 and not Question 2.

e The candidate correctly
identifies the purpose and context
of the discourse.

0 The candidate correctly
identifies Rebecca's stage of
language acquisition and uses an
appropriate theoretical model to
support the point.

6 The candidate is assertive and
is able to apply theory to a
phonological argument which is
then developed by an explanation
of child language acquisition theory
and examples from the transcript.

@ PAST PAPERS
INSIDE

Cambridge International AS and A Level English 9093

35



Question 3

36

Example candidate response — high, continued

Examiner comments
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0 While identifying linguistic
features, the candidate refers
confidently to language structures
with technical terminology.

o Here, the candidate analyses
linguistic features while referring
back to the context and purpose.

0 The candidate discusses how
the child could give clearer
meaning and briefly introduces a
further theorist to support the point.

0 The candidate confidently
discusses syntax with appropriate
examples being labelled correctly.
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Question 3

Example candidate response — high, continued

Examiner comments
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@ The response is articulate and
fluent and offers insight into how
the child's syntax acquisition falls
into an early stage.

m The candidate now begins to
develop the response from initial
discussion on phonological, lexical
and syntactical acquisition through
to semantics, applying new
theoretical explanation.

@ There is further linguistic
exploration here as the candidate
discusses pragmatics within the
imaginative role play.
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Example candidate response — high, continued

Examiner comments
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@ The candidate provides
explanation and exploration of the
father's role as linguistic caregiver
by briefly discussing theory and
providing appropriate examples
from the text.

@ The candidate correctly
identifies the father as recasting
rather than correcting his
daughter's utterance.

@ The candidate explains the
contrast in the two linguistic
theories discussed.
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Question 3

Example candidate response — high, continued Examiner comments
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How the candidate could have improved the answer

The penultimate paragraph was somewhat lengthy. The candidate could have improved the response by
writing more succinctly, or by using fewer examples (such as the one provided regarding Deaf Jim) to
illustrate the point made.

The candidate identified phoneme /p/ as a voiced plosive, rather than an unvoiced plosive. To improve the
answer, the candidate should have been accurate in labelling phonological ingredients.
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Question 3

Example candidate response — middle Examiner comments
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e The candidate selects
appropriately from the transcript in
order to demonstrate knowledge of

oty o€ o Loanguage OocquwiSDan deniee ,To " | child language acquisition theory,
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Chomseu's  ¥reoy U Corroged v Where- SneP . Octen d
P N OAVOX
MR unen  She  Showos v, aloiibe, to Pomuiote
o Stolernent wtih badrc grommahcod feores:

e Paxnaer BramPes et daugnier s \'\r\iY\\C\‘r‘\% PyO.Ced§
and e flow  0Of conver SGh'cnal Dy uding R rpdteiocy
Qumeintnd yvoogn nenetn 1t cavie wnfie ” ¥o
e Rebecca " \Qv\omw -chFbr\qu wiyh e
Qbmou,s aNSWey . T Cé(l.bue actveny  eaones
| Reoeccas  unduittanding of language reinfoting Hne
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Question 3

Example candidate response — middle, continued

Examiner comments

Shu e OPQS.er\\e,nw W Roy nead. Tytrer

reinfovComent S wed by e Lorner ;" bux ,yes.

VA nonve Sone | O CanBnue e duetkhion 0P

- ConverSan e .F?cs‘f‘a’uaj encouraoing O ESPonSe
A <)

Ron  fepecca- ~The use of queldons and

winfortormmene S an examfle OoF Scinners

Penawiowr S ol \ | ordey  Po e converSayon

0 Conmence and flow \ogicoiiuy . GueR0NS and

ranfaComente 1S uded ©o  -encourane Reoecca wanmisk|
N

e 5
S rultonecusSiy  tealming. NaY .o Grominmouacod
) =\ J

Swvuchure of naor mPonSes-Q

TThe lexi'S of o0 onid ReoeccoS age (§ Sivafle Ve oet
=)

and dhe grammow 1S wosio ;Y dont tnaw”  ana
IS enapesS one wol ko wod and ¥ne

wagro\pm‘e S’to«&\'es of SPeeti~ 10 be -exP\Ged.

Whilst  Relecca ule® Ne o Bwo Loords 3 " Hhere * ana

" moox i evident e hal reached Yo 1 eqvaPnic |

Lusing Bree o Faur wodras W SIPN e YoWne v

[ Scoges OF SPeoc 1M e Snep - Predend. SheP Y oy Q_

| Paney. The Riegropnic Scoge enoies Nex o

RIS ComrmondsS bo ey Pavner , €rmaping himto

onderstond - and  foe the QonveySousion w e

1 detran She imnaging s- T box” 13 o Conmnond

repralentgng Holday's jusyonve comimend as by

Farng. ¥l Ihe meons ¥C  inmfory her fodiner

thok & Wione ox . Come .come Come” |, using Ahret

wody, Yhe i3 oole 40 We & wlaalteory Canmmnaind

(Haiday) *¥¢  ordey Weor forrer Yo a0 to Yhe

S,

Reoea eudenty Borrouat W QUSiUiry YO Aogicadiy_Serend

ol hd:l(.q o fonor Weaugn basic QAroewrn mears end

o The candidate attempts to
explore language and structure with
comment on the father's role in the
interaction.

6 There is some development as
the candidate continues to explore
the father's utterances with a brief
comment on the work of Skinner.

6 The candidate correctly
identifies the stage of language
acquisition which the child has
reached, and selects appropriate
evidence from the transcript.

0 The candidate applies language
acquisition appropriately, offering a
more developed explanation.
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Example candidate response — middle, continued Examiner comments

Clegrafnre. fentante StyuCoat. “Tris (s arctieccon
_0f _er Cognisante and akiliG) to Poxay ey
Cogniive wnderStonding 0f hex PornerS ProneeS
| ana Questons. Y eas -feas-@eal’ ST Cotvomshar
| ¥noedage Mrox qox Con buy PV ac asSnce,
A\mw%yg v‘r\wr cognisante S Moo Yor res=—on

ereynody cSlactolall  rlasopie  ana ur\o\Qv;cqrxd qb\'e
o _ovhers orner Yo oy foxner M yniS S a
Punny_ old SN’ , Sne  effotiesly concud®d witn
,ep\‘o\e;\ce of eV mmemory [ Pess Lurnaumn

YOI ing WA ZWor Fatines  weon ted.s Thvopyot
e converSaton  hiv fobhoy nod Remfed Yhe
dea OFf Qéoxj whnen §fre vouente off tvocke

N riee ” L and K€ (5 ewdent Tk wad  Sucteishal i
reonindimg Nev. - Bnd - Rad Pecs ! S evidente o
Reoeccal’s  Qility +0  roond oft O conversaton ,and
ney  Qognitante towards  the RirPose of Hne

GorugkSosion: ( acek:s Goonitie ‘\‘V\QO/\D‘-Q o @) The candidate has attempted to
Y v = 1. | apply Piaget's theory of cognitive

- . | development with a very brief

ReweccQ Potrays her Ocqured languoce ocaiSden - | mention.

Jvougn  Seinnerd benauiaurisrm Theory o) ner Roner
Uie’ ina'na’an Rohntgues and infotement to

Pranfe wey tnovgne rocess and  devricPMmeanc of
language - Besee e conuexsolon 5 effeccivery

N oSO o
Corvied auk, ¥arcwoon har A oty So Pomy
oadve gromimoacat  dunitendy  eiident o Cnomn Sy 'S
" noouiSon ¥Neory - Aleny it Wy CogniSance
ho e 000 G0 C_muewsu,h‘o« and ooic Mﬂﬁpﬁc | eTheconcIusion is a concise
fontenCet , e for ok ool 4o oyl alogiced | | rewording of the body of the essay.
angd  dewuifove  (nery oFuu-\qO@Q

Total mark awarded =
12 out of 25

How the candidate could have improved the answer

The candidate tended to make assertions. The answer could have been improved by providing developed,
rather than generalised, comments on the stage of language acquisition of the child in the second
paragraph.

The response demonstrated some wider reading of child language acquisition theories. However, these were
not always explained, therefore the candidate could have improved the answer by writing in a more precise
manner, with appropriate selections from the transcription as evidence. This was particularly relevant in the
section regarding Piaget, whose name was only briefly mentioned.

The candidate commented on the purpose of the father’s questioning technique to an extent. To improve the

answer, the candidate could have developed an argument concerning caretaker speech and the way
Rebecca reacts in her turn-taking.

Overall, the answer could have been improved by using more linguistic terminology tt E@j S
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Question 3

Example candidate response — low Examiner comments
\ l\ e
Tha \qngo Mi_,\__n%é S Converd ¢allon
oohueor  Nevetco offe WY fomods G hed
Qodhey e oty ey Sl o]
and Casuald. Th%  Can __be Prove. by
R Sesben ey Sefd by vebeges o
Qe g Qwnd wilkooX any P Pey .
@MJ@X\)MQE;O\( oxamPe V0 box A —M\?M)' o The candidate attempts to spot
Ao Qe O o g uefe Hed helb features of the discourse and
*tng\ T\«e (:’ Ownd okl e - Mo Cume ggc;\gdneota tgsg; clziﬁrg;]ur?set)ir(]:t;::;%g.
; Y Ao mondis oo \\ g LSe.
Mok ok (eMesemte B Moew oy both
ok Mow. lo Hohad 4Lo,u’va 2€uioualy Qe
| oy el as Qe3hies “uged oy \PHle
nehoeCCa. Th  Que  he  pear  dlul  lob
ok oty oo Paosed aye uted by |
__$ehelCtte. Ow hed Sedemigs adm oy \P\IJC@_
S&_QTM O RN TR o ok wWhed Yo 9 The candidate spots further
Sy ok T oLFs  Convedal e (erminology, with basic comment
? emPues® s Gfven g Peas. Hey ’ '
Cedboy  toawds Ao by  Peas  Iven
Kelneccad M?"‘D‘:‘ Q-\\n? e e The response demonstrates

some understanding of the context
provided.

Total mark awarded =
2 out of 25

PAST PAPERS
INS]DE

uuuuuuuuuuuuuu

=/

Cambridge International AS and A Level English 9093

43



Question 3

How the candidate could have improved the answer

Often, a response is brief when a candidate has insufficient time left to complete the essay. However, even
in short responses it is possible to achieve some marks. In this case, although the response was brief, the
candidate could have improved the essay by using linguistic terminology instead of generalised standard
English.

Some language features were spotted and if the candidate had provided more than a basic comment
regarding these, more marks would have been awarded. The stage of language acquisition in the child was
not identified, nor was there any reference to language theory. The candidate selected some quotes from the
transcription but comments lacked precision and ideas were undeveloped.

Overall, the candidate appeared to have understood the context. A fuller exploration of language acquisition
through imaginary play would have improved the response.

Common mistakes candidates made in this question

In Question 3, a mistake commonly made was to wrongly identify the stage of language acquisition in the
child. There was evidence in the transcription of holophrastic and telegraphic speech and Piaget’s pre-

operational stage. Often candidates described the child’s utterances as ‘holographic’ and ‘telephrastic’ in
error. Candidates should be aware of the importance of using linguistic terminology fluently and correctly.

In selecting theories to apply to their analyses, some candidates chose to write about the work of Grice,
Tannen or Lakoff. It is important to retain focus on child language acquisition in Question 3, which has
specific demands that are quite different from those in Question 1. Therefore mention of theorists
specialising in gender or politeness, for example, were inappropriate.

Many candidates referred to the child’s early stage grammar and syntax examples as ‘mistakes’. More
accurately, these examples could be termed ‘virtuous errors’ with an opportunity to open a discussion on the
work of Chomsky.

Weaker candidates stated that the adult’s function was purely to teach the child. This was a missed

opportunity to explore how language is acquired through play, where discussion on the Hallidayan
imaginative, representational and regulatory functions would have been stronger.

@ PAST PAPERS
INSIDE

44 Cambridge International AS and A Level English 9093



Q PAST PAPERS
INSIDE



Cambridge International Examinations

1 Hills Road, Cambridge, CB1 2EU, United Kingdom
t: +44 1223 553554 f: +44 1223 553558

e: info@cie.org.uk www.cie.org.uk

© Cambridge International Examinations 2017
Version 0.1

=/

PAST PAPERS

uuuuuuuuuuuuuu

= aent



